@
SDM-Trade

15 |.110 S— L
2 i J ‘i] = 1
gl -——--—t—-— __-...-_-._,.2 JR N X ;“ W —Te 2 =7
p -
2 Nl M20x42
N 3 90 by
H HH
33 [l 210 | 9 OUTPUT
217
LF
B L
140_ 20 ]
_15__110]
=2 1T J
(=3 S Dl 1 SO R— RPN | B B S S | A
@ < ‘f > g
. 3
4
M._FD
M EA M...FD M...FA
& —
1Dl |Aa | v | W | L |AD | @ |LF| @ | R |AD| R |AD

C802/3 |S3 |M3S 195 | 347.5 3445 | 7425 | 142 130 | 8385 | 146 | 160 158 160 142
c802/3 |S3 |M3L 195 | 347.5 | 3445 | 7745 | 142 146 | 8655 | 153 | 160 158 160 142
c802/3 |S4 M4 258 378 376 [ BB2.5 | 193 180 | 8915 ) 196 | 226 | 210 | 217 193
C802/3 |1S4 |M4LC | 258 379 376 | 917.5] 193 188 |1016.5| 204 | 226 | 210 | 217 193
C802/3 |S5 |M5S 310 | 405 | 402 060 | 245 | 208 | 1109 | 238 | 266 | 245 | 247 | 245
C 802/3 |S5 |M5L 310 | 405 | 402 | 1013 | 245 | 224 | 1153 | 254 | 266 | 245 | 247 | 245
c804 [S1 |M1 138 318 316 [733.5| 108 133 | 7945 | 136 | 103 135 | 124 108
c804 |S2 |M25 156 328 325 |7B1.5] 119 137 | 8325 | 141 129 146 | 134 118
cg04 |S3 |M3S 195 | 347.5 | 3445 | 805.5 | 142 142 | 901.5) 149 | 160 158 | 160 142
c8b4 |S3 |M3L 195 | 347.5| 3445 | 837.5| 142 148 | 828.5| 156 | 160 158 | 160 142
c804 |54 (M4 258 378 376 | 945.5| 193 183 |1054.5] 201 226 | 210 | 217 183
c804 |54 |M4LC | 258 378 376 [980.5| 183 191 |1079.5) 209 | 226 | 210 | 217 183




320
. 22 he
.r"_ﬂ'_""‘-\.
N ”
DY s .
\ & M20x42
\, ﬁ AD hE
!
33 || 210 | N3 | 28 ouTPUT
p— | - —-H-—am 3
440 154
A |PE3)
M
M2 Ho b4
;@‘ !_ \
B
il
W |
R
M Er
MW
e
INPUT
P63..P200
N
M2 He [l
! A
AN
5| dpl-44 M-
\[v ' /
M L
N
|'l‘I|E
w2
M1
INPUT
P225
M M1 m2 N N1 N2 N3 N4 X P fiio)
C 80 2/3 | P80 19 218 6 200 165 130 — M10x12 4 533 135
C 80 2/3 | P90 24 27.3 8 200 165 130 — M10x12 4 533 135
C 80 2/3 |P100 28 31.3 8 250 215 180 — M12x16| 4.5 543 139
C802/3 |P112 28 31.3 8 250 215 180 — M12x16| 4.5 543 139
C 802/3|P132 38 41.3 10 300 265 230 16 14 5 579.5 141
C 802/3 | P160 42 45.3 12 350 300 250 23 18 [ 635 154
C 802/3|P180 48 51.8 14 350 300 250 23 18 [ 635 154
C802 |P200 55 58.3 16 400 350 300 — M16x25 7 G660 176
C802 |P225 B0 64.4 18 450 400 350 25 18 [ 705.5 178
C 804 |P63 11 12.8 4 140 115 a5 — MBx19 4 576.5 138
Ca04 P71 14 16.3 5 160 130 110 — MBx16 4.5 576.5 138
C 804 |P80 19 21.8 5] 200 165 130 — M10x12 4 596 140
Ca04 P90 24 27.3 a8 200 165 130 — M10x12 4 596 140
C 804 |P100 28 31.3 8 250 215 180 — M12x16 | 45 606 144
can4 P112 28 31.3 a8 250 215 180 — M12x16 4.5 606 144
C 804 |P132 38 41.3 10 300 265 230 16 M12x16 5 642.5 146




C 80...HS

A 320
n 140 8 E
15 110 F4| F3 22 ha
‘ "!"—l.r@- LT ﬂ \
o R e SN = ] 2 | 03 o | ARl ey, wl -
1=} _g @
£ 2 [, [m20x42
| AN B . A _*_N 80 b5
s [0 I 25 -nl OUTPUT
277 370 ;i
440
A
n 140 B B
20 F4) F3
15 |,110 L 9 F2 ho
j ! ~ a '
& ks 5 v
F rs
M INPUT
4] | B A B E F F1 F2 F3 Fa v Jio)
C 802 7185 | 4685 | 110 42 45 12 10 90 |[M12x28| 154
C803 |HS 7185 | 4685 | 110 42 45 12 10 90 |M12x28 | 154
C804 6665 | 476.5 50 24 27 8 25 45 | MBx19 | 141




